S2

Finding the Arc Length from the Area of the Sector

Find the arc length of each sector. Round your answer to two decimal places.

(Use T = 3.14)

1) Area = 173.05 in?

Length of the arc JK =

4) Area=23.72ft

Length of the arcUV =

7) Area=731yd’

"

H

Length of the arc GH =

2) Area=157 yd?

12yd

Length of the arc RS =

5) Area=17.44in?

\Vsor

Length of the arc XY =

8) Area=110.82 ft?

11 ft

Length of the arc TU =

3) Area=108.98 ft’

Length of the arc AB =

6) Area=126.47 yd’

\(3*(3

Length of the arc CD =

9) Area=20.41in?

Length of the arc PQ =
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S2

Finding the Arc Length from the Area of the Sector AnswerKey

Find the arc length of each sector. Round your answer to two decimal places.
(Usem=3.14)

1) Area=173.05in? 2) Area=157 yd? 3) Area=108.98 ft’

12yd

Length of thearcJK=  43.26in Length of thearcRS= 26.17 yd Length ofthearcAB=31.14 ft

4) Area=23.72ft 5) Area=17.44in’ 6) Area=126.47 yd’
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Length of thearcUV= 11.86 ft Length ofthearc XY= 6.98in Length of thearcCD=25.29 yd
7) Area=731yd’ 8) Area=110.82 ft? 9) Area=2041in’
11 ft U <
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Length of thearcGH= 86 yd Length of thearcTU= 20.15 ft Length of thearcPQ=  6.8in
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